
Part A -  General Hindi&English 

1 ) 'faf~, sra, arafr' 9rat #t fail

grse ii, r: ­ 

A) 3raraf, <z, faf 

B) 3raraf, Ra, srfRaf

C) sraff, reg, sraf

D) sraf, ea, af

fRfa vrei ·l crag # er ei it aff 

«cf arr c t

wnrfl a& Rat jtaa ai if ar Ha 2

3re 1869 at ca~a, afars, a ~ za @Tl

# ar if ~ a ~ft gar  sar  ~ 1  aft  r&
«iea, iv#e ~ t sf, a a 1893 i af& am#la

7q, st ~ 20 af aa Ali ~ far re 
a1aa a fa aR z~ I a  zr  3fa fa 

3ras sfu fad ref a ~ ran ~ «s ir  ~
srR  aw  ~ ta  a?~  s#fa a 3EzfRra Rat a 

71q 1 arr { afar i eaia «ii i «mu t

affa aaaa asfr ii ta a art

·rift  ra  4 6  af  fr  a@A  i  ea  a,  a= ar %r 

rT arcs fr sc a5 er# fa a uaR i e
ft 1  nifr fr srr rat~  + Rrsz ~ zaf ywia 

ff fr ae ~ ta ea ~ea ~ nifl sft at aa

fr a4t ~ er«ft 

+ esqr ( er) si~a ar «f qr st 

rf@ a ai ~ at aa v, set sf ta~ia
IR # fRu af@ea 3Rail at aaa fa

I  aar er ·fa fake aar 3far ~ 3Rat 
arr ar ea fr aw~~ e acat er 
al nafr zeR, fRarait A zfr aar sfR.qjp a,
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ra at a a~ fRu  zadf  fa  1  ar  ifRt

«er  a  ~  fRu  tads  atf  aar  au 

2) ad srase ~ 'era mar' ~ fRu ala.~ ta
gr at .r zsnr ~?

A) ra1%l

B) FRI€

c) afera

D) 3rzfRra

3) +aia a~ ~ fRu niefr ~ fa fRai fr
aa1a f fl?
A) fR at yin fu faa -a ~ fa asa

B) «aaT ,  Ila 2T ala

C) 3rfRrz er rear& aaa ~ fiaa fa?a
D) +asa ( sa) sri~a ii afz flat

4) Per ifr ae 3r.mfr 2?

A) Re

B) 8 T a r t  za

c ) #

D) 9TT1r

5) fur 3fa Rt a a~ ~ ia are ifr sra
«a R sfl fa a2

A) a re-raf a ~ fir as&  Et
B) a ea«rsu ( a) aria al zinfa far
C) at aa fRfur ~ fa «er& a±

D) 3al er.flu si at qaea
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6) zfmr fa i sea mifr ~ f frm t

512 

A) i1

B) fit i fr f rar

C) +afu Hair

D) gift a£1

7) f it  m#t  a=  r  #ta  i  ma  •  7

i i  a  me? fz  i raw' rp a r f

srr f 3fa ran i ­  

A) rt ma fz.1 

B) fire atra

C) mi i star

D) n ma1

8) air a.nm sz re ??

A) fa a

B) arfaa

C) z741

9) # a tr rt sra a1 a arr i

ah.m s r 22 

A) A

B) Ar

C) «rt raw

D) r3 ? 

� � .. ... . ..  �
q o  fz r art HT rt r zt ir k  7  
mi are?t i firm ­ 

1 .  d a  5

2  4# b. NH5

-- c. zr7 3 fr

4. 1JH d. fa

A) 1 -c.  2-d. 3-a.4-b

B) 1 - b . 2 - a .  3-d. 4-c

C) ' - a .  2-b. 3-d. 4-c

D) 1 -d .  2-c,3-b. 4-a

1 1 ) f  i  i  r' mt Jr rar. rt±.s 

A) zH

8) z

C) iTa

D) Hr

12) fffn f it  i  n  rt.m zi ra ft ?
A) 3 

8) :

C) r

0) 

13) �--, -, ---------­ 
rvnt a ft rtyardfj 

«rt ti, us. _

', JH, a, 

A) Mr, Tr, ea

8) fr, sea,%,

C) re es 
"rr, ·g 

o) wra, f_
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44) 'a fen frR ar ~er qr, as sra a ·I'

sea are ii al-qr r ve ?2

A) ae fer fR

B) zR ~er @T 

C) as sra

D) ks var

15) i at gea fut' aa are i ala­ 

vra #? 

A) i?

B) i

C) gear«

D) afu

16) Pera?f al a a#t srzf ~ fa a

1 .  3fr qar a. rfar aar 

2. 3gft ff~u aaar b. Ia ft aa sa Ra

3. a a«ar c.  arr  #  ar  a

4. a «tsar d. asa sar fRea

A) 1-a,2-b,3-c,4-d
B) 1-c, 2-a, 3-b, 4-d 

C) 1-d, 2-a, 3-c, 4-b
D) 1-b, 2-a, 3-d, 4-c

17) @ a st aft gar&t' a arr i a-a

Tera #2?

A) 

B) a •
c) rf

D) gar%
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18) fRq vu ar& 3 @rail sr r& 3 ~ aas

fa @rs~ ~ fast­ 

1 .  e a. fs

2. rfR b. 

3. fare c. 0

4. +a d. &

A) 1-c, 2-d, 3-a, 4-b

B) 1-b, 2-a, 3-d, 4-c

C) 1-a, 2-b, 3-c, 4-d 

D) 1-d,2-c, 3-b, 4-a

19) ff~a ii ~ a-qr 'siar' @rs «r afzafl

rs a8f ? 

A) fafr

B) saia

C) afire

D) fee

20) fsRfua erst «tr faft graz it, gr: -­

er, ~ea, fl

A) sf, rat, «fla

B) la, fear, ar

C) a @ a ,  a, fee

D) ffr, far, nan
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21) ffRf it ~ a.~ mar' «#t afar#l

are #?

A) T ,  faaar, fR¢

B) <iaf, gfRar, srfs

c) fRrA, ffR, ria

D) faa, tfR&, a4fl

22) a&-ft aft r fan ii 3or fn. f #

era t Il' aa a # aifa sior ~ fn

fa zrea ­ 
A) tau Rau

B) Afr-am arr 

C) ~ ~ a
D) ar Ear

A) 1-a, 2-b, 3-c, 4-d

B) 1-d,2-c,  3-a, 4-b
C) 1-a, 2-c, 3-d, 4-b

D) 1-c, 2-d, 3-a,4-b

2'24) 'fr«t arr aarur at, a fer4 71 8 

qa are i a-i Ai a gar ?

A) a goer«

B) 7a«

C) fRsra

p) #iaa

1 ,  7rH a. 7#7

23477 b .7HR 

3 if c. #fan

4 .7a d .FF 

A) 1-c ,  2-d, 3-a,4-b
B) 1 -b .  2-a, 3-d, 4-c
C) 1-a ,  2-b, 3-c, 4-d
D) 1 -d ,2-c,3-b ,  4-a

Read the following passage and answer the 
questions that follow: 

A fire ship or fireship, used in the days of wooden 
rowed or sailing ships, was a ship filled with 
combustibles, or gunpowder deliberately set on fire 
and steered {or, when possible, allowed to drift) 
into an enemy fleet, in order to destroy ships, or to 
create panic and make the enemy break formation. 
Warships of the age of sail were highly vulnerable 
to fire. Made of wood, with seams caulked with tar, 
ropes greased with fat, and stores of gunpowder, 
there was little that would not burn on these ships. 
Accidental fires destroyed many ships, so fire ships 
presented a terrifying threat. Fire ships were most 
devastating against fleets which were at anchor or 
otherwise restricted in movement. At sea, a well­ 
handled ship could evade a fire ship and disable it
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n fire. Other tactics were to fire at the 
with cannor ,_ ~~ n  30

,  b¢  ats and other vessels in the vicinity, S ship's 0a" 1ight 
w could not escape and therefore m that the creV , fire 

jde not to ignite the ship, or to wait until the 
d eci le  .  

tr  had been abandoned and then tow it asideship , 
with small manoeuvrable vessels such as galleys. 
Fireships were used to great effect by the 
outgunned English fleet against the Spanish 
Armada during the Battle of Gravelines, the Dutch 
Raid on the Medway, the Chinese in the Battle of 

Red Cliffs, and by the Greeks in the Greek War of 
Independence. From the beginning of the 19th 
century, steam propulsion and the use of iron,

rather than wood, in shipbuilding gradually came 
into use, making fire ships less of a threat.

26) Fireships were filled with _

A) fire
B) dirt

C) gunpowder

D) fuel

27) The Spanish Armada was fought between the
Spanish and the _

A) Chinese
B) Dutch
C) English
D) Greeks

28) Ships, during the age of sail, were made of 

A) sail

B) wood

C) iron

Page 6 of 48 

D) steel

Read the following passage and answer the

questions that follow:

Vikings were the seafaring Norse people from

southern Scand inavia (present-day Denmark, 
Norway and Sweden) who from the late 8th to late
1 1 t h  centuries raided, pirated, traded and settled

throughout parts of Europe, and explored 

westward to Ice land , Greenland, and Vinland. In

the countries they raided and settled, the period is

known as the Viking Age, and the term 'Viking' also 

commonly includes the inhabitants of the Norse 

homelands . The Vikings had a profound impact on 
the early medieval history of Scandinavia , the 
British Isles, France, Estonia, Kievan Rus' and

S ici ly. Expert sailors and navigators aboard their
characteristic long sh ips ,  Vikings voyaged as far as 

the Mediterranean, North Africa, the M iddle East,
and were the first Europeans to reach North

America. While spreading Norse culture to foreign

lands , they s imultaneously brought home foreign

cultural influences to Scandinavia, profoundly 

influenc ing the historical development of both. 
During the Viking Age the Norse homelands were 
gradually consolidated from smaller kingdoms into 
three larger kingdoms: Denmark, Norway and 

Sweden. The Vikings spoke Old Norse and made 
inscriptions in runes. For most of the period they 

followed the Old Norse religion, but later became 
Christians. The Vikings had their own laws, art and 
architecture. Most Vikings were also farmers, 
fishermen, craftsmen and traders. 
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29) The Vikings originally followed the religion of 

A) Africans
B) Russians
C) Christians
D) Old Norse

30) The country of Denmark was formed during the

A) Middle Age
B) Viking Age
C) Norse homelands
D) pre-historic Age

31 ) For their explorations, the Vikings used

A) longships
8) warships
C) galleys
D) boats

32) What kind of a phrase is the underlined part of 
the sentence? The new mobile was not good,
the battery got drained very quickly.
A) Verb Phrase
B) Noun Phrase
C) Adverb Phrase
D) Adjective Phrase
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33) Fill in the blanks to complete the sentence.
"I got wet in the rain _ 'a col d , _ d o

not worry I will recover quickly.

A) for, catched, yet
B) so, catch, however
C) so, caught, but
D) for, caught, but

34) ldentify the part of the sentence that has an

error: When the President arrived every one in the
audience stand up.
A) When the President
B) arrived every one
C) in the audience
D) stand up

35) Identify the Antonym for the word ­ 

impregnable
A) pregnant
B) moldable
C) vulnerable
D) valuable

36) Choose the 
b correct sentence from the options 

elow:­ 
A) I was wonder. ,  ·  nng today; if her friends' were 

going to visit h er fathers restaurant.
B) I was wonder 
to it h nng today if her friends were going 

vIsIt er fath er's restaurant.
C) Iwas wonde s. , · ering today; if her friend's were 
going to visit h er father restaurant
D) I was wone · ering today if her friends' were 

going to visit her fathers' restaurant 



cl 
A) Noun Phrase

B) Verb Phrase

C) Adverb Pharse

D) Adjective Phrase

42) Identify the part of the sentence that has an

error: The cookie jar is lying empty in the table. 

A) The cookie

B) jar is

C) lying empty

D) in the table

14 C 

4 1 ) What kind of a phrase is the underlined part g] 
the sentence? The boy at the back likes to jump

over the fence.

38) Identify the synonym for the word - coerce

A) cooperate

B) force

C) divine

D) corroborate

14 C 

A) a, though,milky

B) an, that, scented

C) an, though, tasteless

D) a, that, tasty

37) Fill in the blanks to complete the sentence:

Belgium is _ European country _ is famous 

for its chocolates. 

8)WI
----------------- 

39) Identify the part of the sentence that has an
error: The doctor declared the patient dead when
he arrive in the hospital.
A) The doctor

B) declared the patient

C) dead when he arrive

D) in the hospital

43) Identify the Antonym for the word -
simultaneous
A) concurrent

B) chronic

C) asynchronous
D) coincident

n aw 

) Ad 

) Ad 

) Ve 

9) Ch

low: 
44) Identify the synonym for the word - drivel
A) sarcasm
B) steering
C) gibberish

D) lubricant !) "No 

-----------------:::45) Identify the synonym for the word - hamper 
A) permit

B) steal

C) restrict

D) comfort

40) Identify the part of the sentence that has an
error: He was convicted by the judge but he has
not committed the crime.
A) He was convicted 
B) by the judge
C) but he has not
D) committed the crime.
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46) Identify the synonym for the word - stupefy

A) shorten

B) block

C) clarify 

D) daze

4 7) What kind of a phrase is the underlined part of 

the sentence? The doll is not very attractive but 

she still wants to buy it. 

A) Noun Phrase

B) Verb Phrase

C) Adjective Phrase

D) Adverb Phrase

48) What kind of a phrase is the underlined part of 
- 

the sentence? The cow jumped over the fence and

ran away.

A) Adverb Phrase

B) Adjective Phrase

C) Noun Phrase

D) Verb Phrase

49) Choose the correct sentence from the options

below:

4) "No! You must use a fire extinguisher to put out

:he fire, not hit it with a cloth!," Amelia screamed.

3) "No. You must use a fire extinguisher to put out
he fire, and not hit it with a cloth," Am e l i  1e1la

creamed. 

c) "No?" You must use a fire extinguisher to p 

out the fire and not hit it with a cloth!," Amelia

screamed. 
D) "No, you must! use a fire extinguisher to put out 

the fire, not hit it with a cloth!" Amelia screamed.

50) Identify the Antonym for the word - brusque

A) civil
B) frank
C) insightful
D) bright

ans , �
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Part B Mental Ability. General Awareness & Computer knowledge 

5 1 )  Study the following information carefully and 5 1 )  fffiaa Ha? a1  s2fa 3r at 3 #

answer the question given below: fn ma ar a z;

Eight persons J, K, L, M, N,  O, P and Q are sitting 3rz If J ,  K, L ,  M, N, O, P fr Q Ta 3arr baa ~

around a circular table. Six of them are facing arrt # #  3i  i  ii  ft  ~ ii fn  zd, saf: 

towards the centre while two of them are facing t ar  ft  r afra # M, J ~ fa. ai r # L ,  N  #

outside. M is on the immediate left of J .  L is second zrii i zt  ra z z , i P  a  aii  i  fr  ray  r  ~, jt

to the right of N who is third to the left of P who is at ft r fra 1 J , O ~ ii  i  fr  r  r  ~  r

facing outside. J is third to the right of O and is Q ~ aii z ram r 2 K #z ft r fa a#i $ 

second to the left of Q. K is not facing towards the M ,  P  a1  fa ft ~ 

centre. M is an immed iate ne ighbour of P. 

Who is second to the left of K? 

A ) J

B) M

C ) O

D) p

52) You are given a pair of statements.

A) N is a perfect square .

B) M i s  a  perfect cube.

A) J

B ) M

C ) O

D ) P

A) N r# z af

B) M Tr 9a sa 2

Which of the following questions can be answered by fn aaai ar 3j a fq ii ~  f  a  a  Jr

using the given statements? far #aat #? 

A) Is MxN a perfect square?

8) ls MxN a perfect cube?

C) ls MxN a prime?

D) Is MxN greater than 1000?

A) +I MxN r e af $?

B) +0 MN T ?e a $?

C) I MxN T 3rs kier ?

D) r41 MxN 1000 ~ 3rfa $2
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53) If Deepali is the only daughter of Anuradha's

husband Hitesh, then how is Deepali related to 

Anuradha?

A) Daughter

B) Sister

C) Grand Daughter

D) Grand Mother

A) gn

B) a

c) fl

D) a%t

54) To qualify in Hockey and Football, minimum age 54) tr ~ ea srar a~ ~ fRu saga,

required is 1 3  years and 1 5  years respectively, 

minimum weight required is 50 kgs and 56 kgs 

ma I @r: 1 3  af 1 5  af ~, +a asa gr: 

50 kg s 56 kg ~ st rfaa r @a15 160 cm 
respectively, and maximum height allowed is 160 3 165 cm a&r 1 3  ad ft ~, ear asa 48 kg st

cms and 165 cms respectively. Vasudha is 1 3  years «a& 16 1  cm ? zaij ~  fa  ~  fRu  a  ju  ?

old, has a weight of 48 kgs and a height of 16 1  cms. A) aa et$t

For which of these games is she eligible? 

A) Only Hockey

B) Only Football

C) Both Hockey and Football

D) Neither Hockey nor Football

B) as eala

C) at#r s zal Rt

D) at at4r st a geala

55) Kavya is the daughter of Piyali's father-in-law's 55) a11en, fft ~ a ~ zaelR a ~er ft gfr

only son Mahesh. How is Piyali related to Kavya? faft ar arsnr ~ ii ~?

A) Brother A) T!

B) Son B) 

C) Mother C) Far

D) Father p) fa

• Page 8 
�--�----"'---------� 



14  C  

56) Which of the following statements can be used to 5) fR i  ~ ala  «  au  g  er fRfz ~ ~ m,

take a decision on this problem: What is the time sear fur st  var :  3rfr  ar  aw at ear~?

now?
A) fie sir sizer er af ta # fan i #fia at

A) Both minute and hour hands are pointing in the ~

same direction B) fa s sier ii ~ af? ft forsi ii zfia a

B) Both minute and hour hands are pointing in z? ~

opposite directions C) fie sier Rt ~ af iaaa fRomsii fl ar

C) Both minute and hour hands are pointing in ? d

perpendicular directions D) Fer ea a#f f «aft ~

D) Problem cannot be solved

57) Study the given information carefully and 57) { z aa& a1 &zIda 3rz a? s fR R 

answer the question given below: n a a ~:

Seema started walking west from her office and then fr ~ aufa ~ p ft z aaar g fur st

took one right turn, one left turn and one right turn to fr rR a aa aR Ru ai mis, ta aui vs

reach her house. s qa aui ijs  fRaru 

In which direction was Seema facing when she fr 3rR aufz ~ sear gt a~ z fa fR9gm ~j 

started from her office? qafa 2fl? 

A) East A) 

8) West B) fr

C) North C) a

D) North-west D) Re-f
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58) Study the following information carefully and 58 5q ff~a Tl T &771da 3rza a? st n
answer the question given below: fen mu g a R :
Nine persons A, B, C, D, E, F, G, H and I are sitting at anf A, B, C, D, E, F, G, H s~ I  @rr ~aa a

around a circular table each facing outside. A is third ail it 3 ~ sf a sf a ft 3 afa # A
to the left of H and is second to the right of C. D is H ~ ai ~ ?  era  ~ s C ~ a 3 ~ zer?  ea
second to the left of F. D is an immediate neighbour « ~ D, F ~ ard  ~  @et  ca  ~  D, H ar faaa
of H. I is on immediate left of B. G is not an immediate ft ~ l ,  B a  faa arui a ~ G ,  A  ar faea
neighbour of A. a3fr a8 ?u

Who is fifth to the right of B? 

A) C 

B) E 

C ) F

D ) G  

59) You are given a pair of statements.

A) P >  Q.

B) Q < R .

A ) C  

B) E

C ) F  
D ) G  

59) 3mat er«ii fr ta si# at & ~u

A) p > Q

8 )  Q < R

· fu v aai a uzln a3 fR i ~  fie
Which of the following questions can be answered DY ps: .. a ar 3  

kaar  a ?

using the given statements? 

A) ls P >  R ?

B) ls Q> S? 

C) ls P = Q?

D) ls P + R = 2Q?

A) I P >  R  ?
B )  mm  Q> S ~2 

C ) r P = Q  ?
D) I P  + R = 2 0  ~2
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60) The question given below has statement with two 60) fR fu mu aura ~ re t fRsaf ~ ta fa

conclusions. Choose which of the conclusions are r aa as, aura ~ rare fRfa fad a

implicit according to the statement by selecting an 

option. ar : lzra , ~ ara ~, sn a ~  arad
Statements: RRoyan is taller than Raman, who is taller [saf j :  ·la fi ~ a~ sia ? 

than Rajan cad l :  s Ai i a~ al~ a a1
Conclusion I :  Royan is the tallest among the three 

C) aa fad I I  ffRa ~

D) 1 i z ff#a #
B) Only conclusion I is implicit
C) Only conclusion 1 1  is implicit
D) Both I and 1 1  are implicit

A) None of the conclusions are implicit

Conclusion I I :  Rajan is the shortest among the three a& f fad Ra a#t

B) aa fcadf 1  fa ~

61 ) In the following questions, mark: 6 1 )  fafRfRaa i, ff?a a:

1 ,  if statement I alone is sufficient to answer the 1 ,  zf  aa l  3rR  #t  mer a a~~~ fRu  qzf

problem.
2, if statement I I  alone is sufficient to answer t_ f~ ara I l srR  ft  a k a  ~R  ~  fR  zf  ~
problem. 3 , f  aura l  I l i  ra  fa, r ar z
3, if statements I and I I  both taken together are ~ fRu zf
sufficient to answer the problem. 

4, f aura I  3~ I I  Ara  fa, er ar ~~ ~ Rt
4, if statements I and I I  taken together are NOT afg a#f #
sufficient to answer the problem. 

Does P belong to the set of integers?

I . p3 is an integer

II. 3P is an integer

A) 1 

B) 2

c) 3

D) 4

I .  P3 t rfa 

I I .  3P a fa 

A) 1

B) 2

C ) 3

D) 4
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162) Study the following information carefully and 
I  answer the question given below: 

Eight persons J, K, L, M ,  N ,  0 ,  P  and Q are s i tt i n g  
I  around a circular table. Six of them are facing 

towards the centre w h i l e  two of them are facing 
I outside. M is on the immediate left of J. L  is second 

to the right of N who is third to the left of P who is 
facing outside. J is third to the right of O a n d  is 
second to the left of a. K  i s  not facing towards the 
centre. M is a n  immediate n e i g h b o u r  of P .  

I  

62) fefRfa e a r ?  T £7Ta srEr a st #a 

fu nu syn t a : 
an sf J, K, L ,  M, N ,  O ,  P  sit Q  ta arr daa ~

arc at ~ # a# ~ ae ft ri ft sq #, safa 
t a fr ii ef # M, J b a c ~1 L,  N  #

a~aaera~, sit P  a ~f eaa ~, sin 
a 4ft Aafa ?I J ,  O~a@~ era  ~
Q  a ~  as rwa  ~ K  #  ft  m  efa i #

M, P a faea ft

1 Who is sixth to the right of J ?  

A ) K

B) L 

C ) N

D ) P

I  A) K 

B) L 

I C )  N

I  D )  p

I ---------- 
63) Study the following information carefully and 63) fRfRfRa sraafr at a rEza at sc fR 
I answer the question given below: fu!; lfl1: '11':f '!if ;,m: �:

Eight persons J,  K, L, M, N, O, P and Q are sitting 3rs sf J, K, L, M, N, O, P sic Q ta aarar 2a 
around a circular table. Six of them are facing arr ire ## ~ a sa fr ii fu st #, af

towards the centre while two of them are facing aft ix  zefa  #  M, J &a ad  av # L,  N
outside. M is on the immediate left of J. L is second ar~@e  ma c ~ , si p  ~a~ f  ea  ~, sf
to the right of N who is third to the left of P who is a ft  it qefa J , O ~ a ~  Ale  err  ~  st
facing outside. J is third to the right of O and is Q # ar ~  a  era  qr  K  #e  ft  zefa a ~u 
second to the left of Q. K is not facing towards the M, P I fza fr 3

I 

centre. M is an immediate neighbour of P. & ~ii~ M ar e  a lp  
What is the position of M with respect to K? 

A) Fourth to the left 

B) Second to the right 

C) Third to the left

D) Third to the right

A) arr ~ ale
B) ar ~ za

c) a ~ flu

p) a? f
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A) ~a P 

B) aa Q

C) P st Q it

B) Only Q

A) Only P

C) Both P and a

14 64) To qualify for a job P, maximum age can be of 64) a& p ~ fut sr#at a~ ~ fRu, srfaa 3
30 years, 10 marks should be more than 50% and 30 <flf � W!iift t 10 ;ff <lim iti 3fifi 50% "6" 3ITTT<li � � 
work experience should be at least 3 years. To � � � ifilf "6" ifilf 3 <flf lj;T � �1 �) \ 
qualify for job Q, one should have a minimum age of matt Q ~  fRq  sr#  a~ fRu,  ma 25 a# ,
2 5  years, 10 marks should be more than 60% and arr@ fafq, 10  fl a si 60% ~ fa R 

work experience of at least 1 year. Rahul has 48% afu s a ~ a  1 af ar  aqfra  ar afuy

marks in 10", an age of 28 years and work zsr~a 10  fj an ~ 48% sia, 28 a # a 3 5 
experience of 5 years. For which of these jobs does af ar al ar 3raga~~ a fr aafa ~ fR

b) »he qualify? a nlrq  #? 
I  

2) V

I 

it 

D) Neither P nor a usb 

nswe 

After s
I 

t
aters 
nd w; 

alked 
valked 

8) R

C ) S
D) fffa a#t far sr eaa ~

Reeta

---------------- -----------------�) Si
65) 4 ass, P, Q, R site s # azala i i  ta  asa  fl g,

feaf R i  a# & refaat  P>R>Q>S ~ a 4q  e"" C ) F e
feafR # S>R>Q>P a As a A fRf , 
P>S>Q>R # f P  seraer  at~, a ea ~ta 4  fp M
#  a  ~Run? [ 

r-- 

A ) Q 18) st

A ) Q  

B )  R  

C ) S  

D) Cannot be determined

65) There are 4 boys, P, Q, R and S. The priority 

given to them in taking a defending position in 

football game is P>R>Q>S, in taking an attacking 

position is S>R>Q>P and in taking mid field position 

is P>S>Q>R. If P is NOT available, then who will 

play at mid field position?

n whicl 
I 

A) East

B) Wes

C) Nortl

out
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A) r a& sit aa fr t a?

B) rm a at a # far &?

C) n a4& sic a r& #?

D) az a fa ala &?

66) anal t« era fr Tr #

A)jar a a{ nsa &l
66) You are given a statement.
A) Wayne and Louis are cousins.

r. ~mr a zjr aR fs ii ~  f  a  r  Rt
Which of the following questions can be answered by T U  7Tu T W 1 I

far s aar ?? 

A) Are mothers of Louis and Wayne sisters? 

8) Are fathers of Louis and Wayne brothers?

C) Are Louis and Wayne brothers?

D) Who is father of Louis?

using the given statement? 

67) If Reeta is the only daughter of Rekha's
husband Hitesh, then how is Hitesh is related to 

Reeta?

A) Sister

B) Brother

C) Father

D) Mother

67) arr ala, at A fR fRRar fr zaaf a8r ~, R

fRRar a fa # ar <ii #?

A) as

B) +r&

c) fa

D) +Tar

68) Study the given information carefully and 68) {t v a r &  at  &zada 3rEz a sf~ fR

answer the question given below: n r ~: 

After starting from the Bank, Mahesh walked a few #~ ge a~are, s#or aferr ft au f fr aft

meters towards the south. Then he took a left turn a samn  f a~  ta  au zig  fRar  ex 20 m ant s

and walked 20 m and then took a right turn and fart vie  fear  at 25 m sari sia , AR  fr ~  ta  
walked 25 m. Finally, he took a left turn again and arut vis fRut 55 m ea sr aufq ~a

valked 55 m to reach his office. + i·  f p.  s  

sf  '  I  ten ~ a er er?

n which direction was he moving finally? 

A) East

3) West

) North 

)) South 

A) f

B) fr

c) 

D) «fer

I



A gold medal carries 5 points, while silver and 7 1 )  r raf z 5  ·ii r , raf «a st i

bronze medals carry 3 and 2 points. respectively. r. 3 tr 2 ir # P  r Q Rr R 3  rf  ea  sn

Both P and Q have won 3 golds, while R and S have $, aft tr S m: 1 # 2 +af fR # ai} 

won 1 and 2 golds. respectively. Each of the four has win 2 rr er. ft # P, Q, R #r S r: 5 , 3 , 0
won 2 silver medals. P,  Q. R and S won 5, 3 . 0  and 7 fr 7 a z f 3 fir if sir r ia ~ st
bronze medals, respectively. Which pair has the least ??
difference in their points?

A) P and R
B) R and S
C) P and S

D) R and Q

A) P r R

B ) R  r  S

C ) P  tr  S

D ) R  #  Q

72) In the following quest ions. mark:
1 ,  if statement I alone is sufficient to answer the 1 ,  fz  ma  I  4ii r  =r  za a  f  zi  k

problem. 

2, f statement I I  alone is sufficient to answer g_ rf Fara l l  r n = z a f i 3

problem. 3 7f a ]  >_  .-  3.  T  8  I I 7 H t  mra ft 7 a _ r r  ar r  z
3, if  statements I and I I  both taken together are ~ fan z #

sufficient to answer the problem. 
4. f  4 fz r ra l tr [ zra fa,  ,  statements I and I I  taken together are NOT 4 a , mz  Jr ?i i  f

i  #t  #
sufficient to answer the problem. 

What is the final profit/loss percent for a shopkeeper? I .  z: 1 k g  iz  s  

I .  A shopkeeper marked the price of 1 kg wheat at mfr fa f%,,, "I F  rs  a  mu  ~  30% 
30% above its cost price 

I I . Selling price of 1 kg of wheat is & 50.

I I  1 k g  rt 1 fa  .,
1 7 r & 5 0  # 1

A) 1 

8) 2

0)3

D) 4

Page 19 of 48 

A) 1

8) 2

c) 3

0) 4 
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73) To pass in Engl ish, Science, Maths and 

a total of 240 marks. In how many subjects has she 
passed? 

A) 2

8) 3

C) 4

D) Cannot be determined

73) 4i#, fan, fn tr sit i zfri ii# fi,

A) 2

B) 3

C ) 4

D) frifr# #t fa n ma ?

Geography, minimum marks (out of 80) required are Fa j (80 i #) #t 4raaT Er. 32, 30, 25 A

32, 30. 25 and 20, respectively Madhu has scored 20 ?1 HI 174 240 # fn # a f#a fait it 

74) Which of these options can be judged from one 74) zit i a m faa ft faait it ~ ra i

of the remaining three options? 3r H ram ??

A) In  a drawer, there are s ix pairs of different A) rr H i , ff  iit  ~  e  is  rs  3

coloured socks. 

B) To pick a pair randomly. at most 7 socks need to

be taken out

C) To pick a pair randomly, at least 9 socks needs

to be taken out

D) I t  is not possible to pick a pair of same coloured

socks

8) farina rr? au a# i fn, 3rf«a

7 1ii r far# fr aaa Ht }

C) rzfsar. F i  m  rrs  I  sua  r  ~  fn, ~ 

9 mi far# fr av+a ft ~

D) rr. # i # is fr i& at fa.a ra aft #

75) Which of these options can be judged from one 75) zit i m fa fa faat i i  ma ~

of the remaining three options? r n ram ?2

A) Some toys are candles . A) 1a ft saft

B) At least one candle is hot. B) 4 i r raft mi }

C) At least two candles are toys. C) i n safzr  fins #

D) All candles are not made of wax. p) mfr tafzi ii ~  aft  aa~ mft
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S t d  th 
. . _.s. _--rlt cfif � 4 i rt i cf cfi 3f!. � � afR � �  

76) tu dy'  e  given information carefully and answer 76) { v& Tl ! ' '  '  
the question given below: nu y a3
Shikhar walked 1 8  km towards east, took right turn fear 1 g  yam ft ar arr, f «R qa art rig fR
and walked 20 km. He then took a left turn and st 2o km saw f eR ta arui vs fur 3 25 km

walked 25 km. Then, he took a left turn and walked a ft, aqR q ai Rs Ru 3 20 km ari ft
20 km. Then, he took a right turn and walked 1 0 k m .  AR ta aut is fRqr  3 1 0  km aani f, qR ta 
Then, he took a left turn and walked 24 km. Finally, aai is Ra 3 24 km ant sia ~, Ra qa aqi lg
he took a left turn and walked 35 km. fRr &z 35 km H«Tl 

----------------------� 

In which direction was he moving finally? 

A) East A) #

B) West B) fr

C) North C) a?

D) South D) fr

77) Which of these options can be judged from one

of the remaining three options, where P and Q are

natural numbers?

A) P is a factor of Q 

B) P is a multiple of 1 2

C) Q is a factor of 60 

D) P i s  156 times Q

77) gR ~ at a fa ~l fl faai~ ta ~
3rit sr raar ~, sat P s Q rafa <ieti #?
A) P, Q r an res ~

B) P, 12  T t pr ~

C) Q, 60 1 ta zraee ~

D) P, Q a1 156 a ~

Page 21 of 48 as. 
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78) Study the given information carefully and 

answer the question given below: 

After starting from the Bank, Mahesh walked a few 
meters towards south. Then he took a left turn and 
walked 20 m and then took a right turn and walked 

78) { ~ aft 1 4Tay#a Era at Ar fs,
7T  a  av  z:

• # rs ~ ~ are, Hr fr ft r a fr fr z

a aa f R a arut ig fur 20 m an t

fr zut zig fa r 25 m a ii, a# f # n.  .  

25 m. Finally, he took a left turn again and walked 55 aut ig fRq v 55 m Ha r~ aqfaq au #
m to reach his office. The air distance between the dv a~ aria ~ fa a% zft 125 m ?
Bank and his office is 125  m 

How far d id M a h e s h  walk towards the south init ia ll y  
from the B a n k ?  

A) 70 m 

B) 80 m
A) 70 m

C) 72 mB) 80 m 
D) 75 m 

C) 72 m 

D) 75 m 

79) Rajan is the son of R u p a ' s  mother-in-law's o n l y
son R i s h i .  How is R i s h i  related to Rajan?
A) Brother

8) Son

C) Uncle

D) Father

79) 1Ha, ft m ~ zal~ q af ga afu,

TH i f al riif }
A) r:

8) T

C) 

D) fa
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gp) The question given below has a statement with 

two conclusions. Choose which of the conclusions 

are implicit according to the statement by selecting 

an option. 

c) + a !  at  a  #  i  ff&a  ~

D) a« I ffRa

A) I at i 1  at ff#a ~

B) aa fsaf i 1  ffRa ~A) Both I and II are implicit

B) Only II is implicit

C) Neither I nor I! is implicit

D) Only I is implicit

fcadf 1 :  at fr  al@z, 3 e a #  a#r &
Statements: All chocolates are cakes. No cake is ice 

cream fsaf l :  as a, fa?la ~ 
Conclusion I :  No chocolate is ice cream 

Conclusion II :  Some cakes are milkshakes

81)  The question given below has a statement with 81 )  fR Ru nu y  aaa ~ arr  t fR sa d  ~ ta
two conclusions. Choose which of the conclusions fa at au a~, aera ~ sraa Rf fR ca d  aRt

are implicit according to the statement by selecting 
an option. 

aura: ta ?a snt 90 kmph ft ~ aaft~, ta fez la
at gf ~  r a i  30 #is r a fr ~u

i 
Statement: A train which runs at a speed of 90 kmph
takes 30 seconds to cross a stationary pa Ff I :  ?a ft ia& 750 m #

I 

completely. 

Conclusion I: Length of the train is 750 m 

Conclusion Ii: Train covers a distance of 2 .5 kms in

100 seconds. 

A) Only conclusion Il is implicit
B) Only conclusion I is implicit
C) Both l and I l  are implicit
P) Neither I nor I l  is implicit

A) aa fsf I ffa a

B) aa ff 1 fa

c) l st I l  Rt ffRa #
D) a t l  ate  a # i I fRa a
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82) Preeti went to the reception party of her

brother's daughter's sister Anjali. How is Anjali

related to Preeti?

A) Sister

B) Aunt

C) Niece

D) Mother

82) flfR r rt fr gf t aaa sisfR 4ft fRona %

i : sisfR, ff ~ fa are iafa ?

A) aa

B) aft

C) #fisfl

D) #Tar

83) Harry introduced Mary as the daughter-in-law of 83) { # & a faa 3r? far ~ zaet a ft a?

his father's only son. How is Mary related to Harry's s i  avaruu  ft, ft ~ zaaR ~ fa a if

only son? ?

A) Sister

B) Mother

C) Wife

D) Husband

A) aaa

B) #Tat

C) a

D) fa



~ q4 \n the following questions, mark: 84 ffefRaa r , ffRaa a:
, t  statement I alone is sufficient to answer the 1 ,  af2  aa }  rR en  at  Rt  ~R  ~ fR  zf  }
aroble" 2, zf aar i l sr#Rl l er at az ~R ~ fu af $

; statement II alone is sufficient to answer the 3, f~ aa I  3z I I al rar frat, H T  T  at ~#
2,  

probie. ~ fRu af ~l 
3 ·t statements I and II both taken together are 4 m� 1  �  11  �  fit�tcfi< ,  ij ¥-t f4 &  elm' � � � �

I  I  I  

sufficient to answer the problem. zig a# ~l 

g t  statements I and II taken together are NOT A a1 au au ~, wfR A s~ B Rt au-sra fa # r
sufficient to answer the problem. Baar zraa 4 0 7?  
What is the value of A, if A and B are two different I .  A, f fa ~l
integers and their product is 40? I I . B > A I

1 . A is an odd integer.
I l .  B >  A.

A) 1 

B) 2
C) 3

0)4

A) 1 

B) 2 

C ) 3
D) 4 

85) 3st aaRi fr ta sir 2 & ~u

A) ea ar 1& #

B) TEI 9 fr aaa

fu 7 aarRi at z a f i ~  fae  ca  ar  3a

Which of the following questions can be answered DY pa sr aar #?

using the given statements? 

85) You are given a pair of statements.

A) Shyam is brother of Rahul.
B) Raha is sister of Shyam.

A) Who is father of Radha?

B) Who all are brothers of Radha?

O) ls Shyam a brother of Radha?

?) ls Madhu mother of Shyam?

A) TT r far al #

B) «uT ft & ala #2
c) IT @I re at & $?

p) rmT g @@r ft rt ?

• Fags; 



86) In January 2021,Government of India

approved two coronavirus vaccines being

manufactured in the country for restrictive,

emergency use. Identify these two vaccines

currently being administered for all the people 18

years and above in India.

A) Modema and Sputnik V

B) Covishield and Covaxin

C) CoronaVac and Novavax

D) Convidecia and Janssen

86) a? 2021 ~, a car ~ fRasaa

3rrraaf a·i fRu ~sr # ff ft sr ~a
rararq« 2lat at is4t { a # 18  a st at

~ srfa an@A ~ ft a at a # a ft  s«Ra

£la  fr  eara al

A) leaf s eafa-V

B) afsfl s a~fa

C) a?a~a la~a

D) afazefrar tr sa~a

87) Rani Laxmibai was married to which of the 87) ft aeflart at fa if a ffRfiaa i ~

following kings of Jhansi? fa sr~ 3r  r?  

A) Shiv Rao A) fra ra

B) Damodar Rao B) airer a

C) Baji Rao I I C) a 1sftra I l

D) Gangadhar Rao D) ire ra

88) Read the following statements with reference 88) fl va r  ~  a  ~I,1857 ~ zief ~

to the First War of Indian Independence, 1857 and fRfRfua aaai at # st # far a 

choose the CORRECT option. 

a) It is also known as the Sepoy Mutiny. a) z~ fit fe (fRir ref) a ~ fr sat sat 

&b) It was started in Udhampur district of Jammu and

Kashmir.

c) It was widespread in Delhi, Agra, Kanpur, and c) z f«ft, r, aa sit a@aa ~j a ~

Lucknow. dar Tl

A) All a, b, care TRUE

B) a and care TRUE and b i s  FALSE

C) All a, b, c are FALSE

D) a and b are TRUE and c is FALSE

A) a, b, c aft a #

B) a s c a#  #  at b  era  ~

C) a, b, c ft 7a #

D) a si b # # site c ·rat

Er£E
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�------------------------- 
qg Earth receives energy from the Sun through 89) faff ~ ~ f 3Er sicur ff ~ aft t
Mech of the following methods of heat transfer? qs~ sf  fr&?

,  Radiation A) ff«or

g conduction B) era

c convection C) ~iae

p) Modulation D) rtser

90) Which of the following is the first missile 

developed in India?

A) Akash

B) Prithvi

C) Trishul

D) Agni

91) Proteins are made up of smaller building

blocks called

A) nucleic acids

B) fatty acids

C) amino acids

D) acetic acids

90) ffRfa it ~ a-fr a a«ft ferea ~, fr~

re fafaa far 7n #?

A) 3Har9r 

B) ft

c) fer 

D) af

91) ii& al fa'rn ala ~ a a ~ fr# f a

~ er srar#?
A) mfr Re

B) £r fRs

c) srfiil tfe

D) off tfe
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92) Why cooking in pressure cooker is done faster 92) 3rr a afai ft aar ~ or @a i a,,,

compared to other conventional methods? aaR at a ~ft ~ j ar ~ ?

A) Increase of boiling point of water inside the A) @at ~ sir qft ar gaia aaR ~  ~ft ~  a,

co o k e r  enables faster cooking gar~~ tee  ffr  ~

B) Decrease of boiling point of water inside the B) pa ~ si qft a graia a ~ ~ft ~  er

cooker enables faster cooking qaR id e fa4ft ~

C) High pressure and low boiling point inside the C) @a ~ si g aara sf a gaia, ft ~ era
cooker enables faster cooking gar ii er amar

D) No change in boiling point but high steam inside D) gaaia i a% ara a#i, fa a ~ sic s

the cooker enables faster cooking w af ~  aa  qa~  ii  r  aaft

93) Who represented India at the 103rd 93) 3ra 2021 i {fir a#sf~ ~ #TEz ~ 3mzjlfa

Development Committee Meeting of World Bank- fa#a da-IMF fr 103ff fa aif fr a ii a

IMF held via video conferencing in April 2021? a faff fa fa?

A) Dr. Harsh Vardhan A) et. afafa

B) Nirmala Sitharaman B) ff fl a p

C) Rajnath Singh C) srarer fRi

D) Piyush Goyal D) fa ·Rua

94) In which of the following States/UTs of India is 94) fgaar a e ma fRfaai ~ fa
the Kishtwar National Park located? sq/.9fa sRgr ii Rua ~2

A) Jammu and Kashmir

8) Punjab

C) Chandigarh

D) Uttarakhand
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a  asfasr ~ aaie i aaR fa ff, 95) In 2017, Scientists have discovered the most 95) 2 0 1 7  ,  
ir al,  ale  +  (area Rafi) fl as f~ si  fan  #  aancient spiral g al a xy  in the universe that existed just 3par@riiqT ( H  

2.6 billion years after the Big Bang. This galaxy is a 2.6 sra arr are Tse fry z rariir at fq

known as: a~sasar?? 

A) A1689811

B) A 1 6 8 9 C 1 1

C) A 1 6 8 9 D 1 1

D) A1689E11

96) Which of the following Governor generals of 
East India company introduced the most 
controversial policy called 'Doctrine of Lapse' ?

A) Lord Curzon

B) Lord Mountbatten

C) Lord Dalhousie

D) Warren Hastings

97) In April 2021, India's cyber security agency
CERT cautioned the users of which popular instant
messaging app about certain vulnerabilities
detected in the app that could lead to breach of 
sensitive information?

) Telegram

B) Sharechat

C) Whats.App

D) Hike

A) A1689B11

B) A1689C11

C) A1689D11

D) A1689E1 1

96) {e if~zr if ~ fsfRfua a# ca~ii~

fe aaR faaee ffR ~gr fr sf, fR ' sr a  at

faia' aa sat 3?2 

A) al5 af

B) al me~ea

C) art~ a#

D) afa Rf#a

97) sr 2021 #, ca 4 area gen qift CERT

, arlafiz ±a #fin i ~ a/laafsi al ~

i r& v% 7a silfzjj a a ii am fa, f~ 
zieagflr aa? a eiaa gt aa ~2

A) ?2@fl

B) ~«Re 

D) zr%a
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as held virtually 
98) The first ever QUAD Summit W? 

a  -cines, climate 
in March 2021 covering areas like va° 

., Which four 
change, and emerging technologies. 
nations were part of this summit? 

A) India, China, Japan and South Korea

B) Australia, South Korea, India and Russia 

C) Russia, United States, France and India

D) India, United States, Japan and Australia

99) When a green leaf is seen in red light, it will

appear
A) black in colour
8) blue in colour

C) green in colour

D) red in colour

� 

98) Ta QUAD (3rs) fr«ea «riera ## 2024

3nft ~ £, era4 fa#a am mt4

geiffzit ~ &ai at 9fa aR s arnlfra fa,

74r a al ~  a z sa fe  ma ar fer 2

A) ca, fa, s a  s  fur  af4

B) sf~fRrzr ,  ferr afar,  ca sit a

C) «a, kiqa sq fat, »i & r«a

D) a, kia a rift, s a  sit  &if4

99) Ha a i fr fl at ara war Rear a ~, rt

aa f A far& ~?

A) a1T 

B) fa

C) z

D) ala

100) In 2021,  Indian Space Research Organization 100) 2021 , fa siafer sraia iv (ISRO) 

(ISRO) has signed an agreement with space ~Rg~ R mraa siafer fora aqa ear ~ 

agency of which of the following countries for fen ffRfRa ii ~ au ~gr ft siafer sift ~ era 

cooperation on the country's first human space

mission Gaganyaan? 

A) Russia

B) France

C) Japan

D) China

a me~ z carer« fu #? 

A) a

B) i

C) srra

D) 4la



A) Kolnapu

B) Nashk

€) Sang# 

p) Solapuf

8) 1f4

C) +mu#1

0) +4rt 

102) In 2018, wtu«cn armed torce ot I n a  launched 102)  2 0 1 8  wr4 f van « Haft

an innovatrve rnooie Peaitn App nared ffr zfe, Ap r . r  w  t  fa ; r

Me'Watch tor the Prmne Mester s rs+on of zt st  m  » tar  i  rt rrseat r stsaa 
.  .  

Digital India. Ayusnmnan Bharat an Mi s s io n  Indra rrwr raru tat fr? 

Dhanusn? A) wr f t  wit 

A) Indian Armed Force B) wrft .in 4

8) Indian Naval Force Cy fnr rm w 

C) Border Secunty Force D) rr rirr 

D) Indian Ar Force

1033) Which ot the following staternents rs 

NCORREC T regarding Desert so? 

A) It is basically sandy sol

) It retains moisture content

C) It s light in colour

D) t has high salt content

103) f fht i faff« it  i

4 4.4  r4  ?2 

A) H HH + i f#  fn  t

B) qr ·ntt 4 rt it grrn nn $

C) z rm it r=ft if }

p) zit ft rm mfr inf }

e 31 01 48 S
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104) Which of the following statements is 104) azar ii-are« fit i, ft it f%k,
CORRECT with reference to Supreme Court's ref it ffRfia ~ a m a@a  +#t }
verdict in the Tata Sons-Cyrus Mistry case'?

A) Supreme Court upheld NCLAT's ruling that had A) fi j± ~ NCLAT ~ # ff t aa Te
ordered Mistry's reinstatement as Executive fair fiafr at arar zi ~ aria' rr ~ ii 
Chairman of Tata Sons a aR a sR9 fT VT T 

B) Supreme Court has ordered Tata Sons to B) qf at± ~ are  i  st  zrer  n ffr fa  ft
resolve the issue of the 18.4 per cent stake that 18 .4 fRor fRe~eft R at ma a«a a s~or

the Mistry family holds in Tata group fRqr ~ 

C) Supreme Court upheld Tata Sons' decision to C) zfts a ~ are zi ~ srz st afatt fRR9ra
sack Cyrus Mistry as the Chairman and ~ s ~  are«  ifr  at  aafea a~ ~ arr zi 
Executive Director of Tata Sons R at a var

reimburse all the expenses to Tata Sons since 
his departure in December 2012

D) Supreme Court has ordered Ratan Tata to D) zf a :  . pi¢. ii -au  R H  Tl a ET I I H  2012 7 3 d  aaf]

~ are, rar ii aft as#f fr ff a«R at sRr

105) Identify the movement which is a living

example of general public awareness about
forests.

A) Van Mahotsava

B) Quit India Movement

C) Green Revolution

D) Chipko Movement

105) 3R iaa ft ear at sit ai ~ a ii am
Haar ft aar ar fa a ~u 
A) aa +ta

B) Ia azit rile=

C) zfa ifa

D) fat arila

106) Which of the following is an example of 
chemica l change?

A) Melting of ice-cream

B) Baking a cake

C) Conversion of water into steam

D) Lighting of electric bulb

A) 3r+ft a fa

B) ~a at

C ) qr#t a  ii £

D) fas#f ~ aa at 4a 
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407) In which jail was Ashfaqulla Khan detained

after being caught in the Kakori case?

A) Faizabad

B) Madras

C) Patna

D) Varanasi

A) srar

B) #Her

C) a

D) a ft

A) zr.It 

B) are3fl

c) 3fie

D) 1fie

108) aTqiea ~ a#r m ~ Ru zi a
3ii far sar #?

n q

108) Which instrument is used to measure the

humidity in the atmosphere?

A) Hygrometer

B) Hydrometer

C) Barometer

D) Pyrometer

109) Which of the following Lines was published

on 1 7  August, 194 7 as a boundary demarcation

line between India and Pakistan upon the Partition

of India?

A) Palk Strait Line

B) Radcliffe Line

C) Durand Line

D) McMahon Line

109) «a a fsa R , fa ~ 

fa «ea&ear ~ s i 1 7  a, 1947 at

fRfar i ~ at fr area afr ft & fl?

A) a ke re

B) sf area

C) gs area

D) #rile area

h i· h
1 10 ) Qutub ud-Din Aibak was the founder of wM I O  

dynasty?

A) The Lodhi dynasty

B) The Tughlaq dynasty

C) The Slave dynasty

D) The Khilji dynasty

1 10 )  mg-a-z taa fe zrgr artiean a  [ q  I ?

A) «ii8r #sr

B) re r

c) eI r

p) farsf sir
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1 1 1 )  Which of the following metals is found in 
insulin? 
A) Zinc
B) Copper
C) Iron
D) Magnesium

1 12 )  The first Battle of Panipat was fought in the 
year 
A) 1521

B) 1526

C ) 1 5 5 6

D) 1761

1 1 3 )  The Pemayangtse Monastery is located in 
which of the following states of India? 
A) Assam

B) Meghalaya
C) Tripura
D) Sikkim

114) ldentify India's first indi Igenously devel
App Store that hosts more th opedan 965 live 
various domains and cate 'apps fromegories of public , 
A) Bharatiya Appstore 'Services. 

B) MyGov Seva Appstore

C) Mobile India Appstore

D) Mobile Seva Appstore

1 1 1 )  fsfRfRa # ~ ala-ft aa gfRa ~ & sRl $

A) fir«

B) al«

C) 34a

D) 01fr

1 1 2 )  fa ft aft aer& f af i a# fl? 

A) 1521

B) 1526

C ) 1 5 5 6

D) 1761

1 1 3 )  ir a ~ ffRfu ii ~ f sa ii 

fear #? 

A) 3r 

B) ?raa4

c) fa

D) ff

1 1 4 )  Ia  R eRgf su ~ faafa ~ et f

era at sir fafs st rdsa as ft 

3frat ~ 965 ~ fa area ~ lee acar # 

A) rf el

B) MyGov ~ar ~el

C) tar« ~far el

D) area a ~el

1 

.  N  

G 

th 

for 
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4 15 ) Identify the name of I n d i a '< .r ,  ~.  .a R  fa a far ~ a.. ; s n r s t  Indian human 1 1 5 )  sifter ~ H T "

mission into space whose o b i ec e  ,  _ e.  R  fr  f  a«f HT (LEO) it:. .. Je c t i v e  is to ft ear a1"
demonstrate indigenous capability fgr gt« ae fr eaRgft &far a 

· I t  to undertake vaa sider sf
human space flight mission to Low Earth Orbit .a

0) ��Ti,�QI 
(LE . 

A) Gaganyaan
B) Akashyaan
C) Chandrayaan
D) Antarikshyaan

A) 7 V u4 I d

C) siua

D) sr=ferar

1 1 6 )  Which of the following is a twin seater twin 
engine multirole combat fighter aircraft jointly ~ gal: f~area ad s f#ea uaalfau 

developed by the Sukhoi Design Bureau of Russia fRfie (HAL) ar in ~ afRa feaa flee

and Hindustan Aeronautics Limited (HAL) for the faa zsa Ell era fa ~?

Ind ian Air Force (IAF)? A) MiG-29 
A) MiG-29

B) Mirage-2000

C) SU-30 MKI

D) MiG-27

1 17 ) To accelerate Al led innovation in India, the
National Association of Software and Services
Companies (NASSCOM) has announced the 'Al
Gamechangers' program in March 2021.  Which of 
the following companies is the innovation partner
for this program? 

) Google 

B) Apple

C) Microsoft

D) Nvidia

B) Mirage-2000

C) SU-30 MKI

D) MiG-27

1 1 7 )  Ia  i AI aaa aR aa ii fl R ~

ft, Rraa tlfRuara s area tie as

ifs (NASSCOM) 4 2021 'AI Risi' 
arfa fr sin fr # faff i al ft if

za a#a ~ fRu arr fa #?
A) TT«

B) 

c) esite

D)



I 4  U 

1 1 8 )  In  which year did India launch its first-ever 1 1 8 )  wa ~ a a zrlvaa f af at

experimental satellite? f, 2IT?

A) 1970

B) 1985

C) 1975

D) 1980

1 1 9 )  The Dandi March, also known as the Salt 

March and the Dandi Satyagraha, led to which of 
the following movements? 

A) Quit India Movement

B) Non-Cooperation Movement

C) Chauri Chaura Incident

D) Civil Disobedience Movement

120) Bandipur National Park is located in which of
the following states of India?

A) Karnataka

B) Gujarat

C) Assam

D) Odisha

A) 1970

B) 1985

C) 1975

D) 1980

1 1 9 )  ai# 4, fR are rf ai#t ea ~

i ft sa sat~, ffRfua i ~ fa siaa ~ 

R ar arr aar? 

A) a a ria

120) i{g ala ea ta a ffRfaa zsif ii i

fa i faa #?

A) aafaa

B) a

C) 3ram

D) mfeon
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~ 121) Which of the f o l l o wi n g 54 _ear~fRuffRfaiR fa 

_  P ot o c ol ( s ) m a y b e  1 2 4 ) a + " " " " r#?used for Email c o m m u n i c a t e ,  ·fur r qaa  

on ?  il2late a a.rT' ~ () UDP 
(ii) SMTP ( I ) UDP
(iii) POP (ii) SMTP

(iii) POP(iv) IMAP

(iv) IMAP

A) (i),( i i)  and ( i i i )
8) ( i i) ,( i i i)  and (iv)
C) ( i ) , ( i i )  and (iv)
D) (i),(iii) and (iv)

122) Which of the following protocols are used for
E m a i l ?
A) TELNET and SMTP

8) SMTP and POP
C) POP and FTP 
D) TELNET and FTP 

123) Which of the following sites are examples of 
Social Networking?

(i) Linkedln

(ii) Pinterest 
(iii) lnstagram

A) () and (ii) only

B) (ii) and (ii i)  only

C) (i) and (i i i) only

D) (),  (in) and (iii)

A) (),(i) sit (ii)
B) (i i) ,(i) s (iv)

C) (),(i n)  st (iv) 

D) (),(in) ante (iv)

122) &-i ~ fu f i ~  fa  sillala ar am

far sat ~2

A) TELNET i SMTP

B) SMTP st POP

C) POP six FTP

D) TELNET sit FTP

123) ffRfua i # ala ft area lore aaff

~ sea #?
()fRasa

(i) free

(ii) FIT

A) a« (i) st ()

B) aa (i) st (i)

c) @« (i) ant (i)

D) (), (i) ar (in) 
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:. MS Excel is:124) The default alignment of data 10 

A) Text is left aligned and numbers are right A ) dace  @r  ass s~ ia rs tar&rs

aligned B ) dare  re  tars«sia areas

B) Text is right aligned and numbers are left C) aae s ia r tars«

aligned 
C) Both text and numbers are left align@
D) Both text and numbers are right aligned

14 C 

1 %  

125) What does SSD stand for?
A) Solid set drive
B) Small state drive
C) Solid state drive
D) Static state drive

125) tu#t at a 3rf 2?

A) lfRe ~z srea

B) cia srsa

C) alfRes +z sra

D) fa z gr%a

th 

() 

(i 

(i 

126) Which of the following is an example of binary 126) f ir 2l  a.  +  T H  r a rea zisunr oft a 3ea

number system? ~?

A) 3A16
B) 14870
C) 1 1 1 0 1
D) 35026

A) 3A16
B) 14870
C) 1 1 1 0 1

0)35026

A 

E 

C 

c 

127) Where does the Operating System kee
information about all pr rocesses? 
A) Memory

8) 1/0 

C)CPU

D) Process Table

127) 3fin fee & fa&ii fr qa ai aft

22

A) i&

B) 1/0 

C)CPU

D) rfR aa

1 :  

A  

E  

C  

t  
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--:..n±  ige« CRT #fa R ~ CRT a128) Traditional computers had CRT monitors. 128) r1 

What do you mean by CRT2 zT sf ~?

A) Cathode Ray Tube

B) Computer Ray Tube

C) Commercial Ray Tube
D) Copper Ray Tube

129) Email Header is/are comprised of which of 
the following fields?
(i) To

(ii) Save

(iii) Cc

(iv) Bee

A) (i),(ii) and (iii)

8) (ii),(ii i) and (iv)

C) (i),(ii) and (iv)

D) (i),(iii) and (iv)

130) How much free storage does Gmail provide?

A) 5 GB

B) 1 0  GB

C) 15  GB

D) 20 GB

�aae�a nf,j.A 

A) #ie? a@

B) ier? a

C) afffaa? a

D) al a

129) {a #e i fsfRfua i a at se 9fa

z#

(i) To 

( i i) Save 

( i i i) Cc 

(iv) Bee

A) (), (i) an (in)

B) ( i n ) ,  (in) sntr (iv) 

C) (), (i) air (iv)

D) (), (in) ate (v)

1 3 0 ) ftie faat fr s era aa ~?
A) 5 G B

8) 1 0  GB

C) 1 5  GB

D) 20 GB
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1 3.  should be 

1 )  Which of the following action° , ~ e  p  ,4 P ai n t e r  
erformed in order to use the 'Form@ 

mutt ple times in MS Excel?

1 3 1 )  ear tRa i 'ii ~Na' a a%  are

Ir sir ~ ~ fRffRfua ~ ~ aft  
fa  a.fr  afu?

) Click on lock format painter icon 
B) c, ~er format B) ti @at ~ siafa la z strgra faick on multiple use option un 

Painter C) hi ~z 3gaa saa fa4a

C) Double click on the format painter icon D) ti ~a at a! a saa fa4a a~ dlaau

D) Double click and drag the format painter
multiple times

132) What type of devices converts digital signals 132) f a at f~are fefaa fRa a ff ~R

into a form that is intelligible to the user? s ii suiafa aa ~, sit ztaf a Ru tar

A) Storage devices ~? 

B) Keyboard A) els f~a re

C) Input devices B) fa&

D) Output devices C) sage farsa

D) anszge fear

133) Which of the following recent trends can be
defined as the abstraction of different computing
resources like processor, memory etc. and is the
single most effective way to reduce lT expenses?
A) Artificial Intelligence

g) Clustering
r Storage Area Network 

p) Virtualizatio"

133) ffRfa i ~ fa &Rz ? at iez, ii

znf ff if tiraai at aria ~ « if

ff fur r amt , sit IT ~ afa a  a at

aa~ fl  &at  ?

A) arc8rlfrsr &2fRsf

B) reef'T

c) es far ea#

D) a4rar&sr



p 

434) The number of unique s y m bo ls  ~,  g .ia  raft i a fa RarR ff oI s  used in the 134) r&a 1 

binary number system is 4a4r 4 #r ewT ~
A) Sixteen
B) Ten A) <ta

C) Eight B) ae

D) Two C) arr

D) ~

135) Which of the following should have a same
name as class name ?
A) Variable
B) Method
C) Constructor
D) Header File

136) Read the following statements about Email 
and choose the CORRECT option. 

135) faff it ~ feat a a ~ RI

tr fR? 

A) afaa

B) is

136) 5i # a ii ff aaR «t R st a#

fa a4RH

(i) The username and the domain name are (i) zH sci @  (at) f gr sr fu sR
�I separated by @ (at) symbol. 6 

(ii) E-mail addresses are case sensitive

A) (i) is False (ii) is False
B) () is True (ii) is False
C) () is False (ii) is True
D) () is True (ii) is True

A) (i) era ~ (in) ea $
B) () & % (in) vrera

c) () era & (in) at $

D) () «& & () er%



137) What is a deadlock?

) Condition where each process is blocked and A) a f~afR si a iRa sraa t sar ~ at

waiting for other to release resources ff fs acR ~  fRu  a ft  fen  cat  #

B) Condition where each process is terminated B) a ~afR si Ra ia q la gar sa

and started again tar ~ 

C) Condition where each process is ready to be C) a f~rfR set a iR ta ~ are qa gaff

executed one by one ~fRu~qr ear~

D) Condition where each process is blocked D) a f~fa sai see iR a sax a@a Re

except the child process 3rag t sar ~ 

138) What is the full form of SMTP?
A) Solid Mail Transaction Protocol
B) Simple Mail Transfer Protocol
C) Simp le Mask Translation Protoco'i'

D) System Mail Translation Protocol

139) Which of the following views of MS Word
shows the text as it appears in printed format
without the headers and footers?

A) Print layout view

g) Draft view
c) Read mode view

p) Print preview

138) SMTP r f r #?

A) alfRe i zi&era i2ala

B) f~a ia gar silrala

C) Ra ea zieR9ra il2ala

D) fie i ziR9ra it2ala

139) ffRfua ~ rs»tr a5 ar a a

a, ~ fea ~, R R sit ge« fa ma

«tie i far Rar ?

A) fie Rans a

B) gr a

C) as ts a

D) fr¢ frat



uo 

" q40) In Excel 2016, If yo «want to : 
alumns between columr 'Sert three ns G and 4
4) Select column G and m.  YOU would right click

for three times and select insert 

g) Select column H and right click and 
for three times Select insert 

C) Select columns E, F , and G and ri g ht  1  

select insert for «, '9h t  click and r one time 
D) Select columns D, E• • and F and ri g h t  select insert fc ~. 'g' click and or one time 

141) Which of the following p r o i d  v u te s  a  mechanism
for retrieving emails from a remote server for a
mail recipient?

A) POP server

B) Database server

C) Domain server

D) SMTP server

----------------� 
----------- • 9 A #tau  H a afja  fl

140) ale 2016 , WW G 3 f l "

al era a fRt 3TT r a?

A) alt g Ra at sit ea faa as fa ar
&a #Rae a? 

B) alt a at ea faa aa fa a
~± iRaa a? 

C) ala E, F st G ~~aa a st area faaa a~

Ta a i± ~Ra a~t

D) ala D, E, F ~Ra«a at area faa a~

Ta a za Rae ai

14 1 ) i saaf a dz ~ zi gaf a~ ~

fR, fa i ~ ala f faff ea aa ~?

A) POP ad

B) ~a d

C) ia #

D) SMTP 4 

142) In MS Excel 2016,  a window can be split into 142) MS Excel 2016 i, f rff
two parts by which of the following options? l at ~ ii  _ ' 'TT  ~a  fa  fa aTer s zaa ~?2 

A) Format -> Window A) ti - > fa4i

B) Developer -> Window-> Split

C) View -->Window-> Split

D) Page Layout -> Split

B) ~aa-> fr > f.

C) at-> ft-> fa.

D) r «sane-> fa.



143) Which of the following can be overloaded ?

A) Variable

B) Objects

C) Class

D) Function

143) ffRf if ~ fR 3la«e fur sr ea $

A) fa

B) sitar«A

C) 

D) ira 

144) Which type of modems contains clock

recovery circuits?

A) Synchronous modem

B) Asynchronous modem

C) Digital modem

D) Internal modem

144) fu ware # Afr a faaa fir R

# 

A) fRaae me

B) 3rfRia e

c) ffraa f

D) &ca ml

145) Which of the following is/are the

characteristics of Main Memory?

a) It is working memory of the computer.

145) fsRfuafRfua i ~ aid/al i (er)
ii& A fa3rat /? 

a) ix fr rf«fa ii& #

b)Re& i& ~ re Rs

A) a a

B) a« b

C) aa c

D) ft a, b, c

B) only b

C) only C

D) all a, b, c

b) Faster than secondary memories.
.. c) fa f f ~ i @e r a#f aa  ca.c) A computer cannot run without primary memory. ' & !  1  i b T l

A) only a
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~46) Which among the following is NOT a 146) faapafRi@a ~ r, t-. # fRlamg
naracteristic of SRAM? #? 

4 Each cell in SRAM is made of a flip flop that A RR.ii g a fa l ~ aar ar ~sin%e
stores one bit Re el ar &l 

BJ zR ta R~is i ! r { a f 3raw#a n
t, 

c f- fr aear # sei a~ -rse area

& 

D) a- a a far ray·ti i a ar

147) On computer start up, which program locates 147) i a sr , ala q fs ~ Ru

and load kernel into main memory for execution? a at ze Rt i sat ~ s els aa 3?

A) Bootstrap program A) aee i

B) Start up program
C) Boot-first program
D) Bootup program

D) SRAM is used in specialized applications

B) It needs to be refreshed many times a second
C) It has shorter read-write cycles as compared to

DRAM 

148) Which of the following 1/0 device is a block

device?
A) Tape drive
B) USB port
C) Keyboard
D) Mouse

148) fsfRfa i at er I/O f~are q ala
fa re #? 

A) ~ gr%a 

B) USB ii±

c) 3~

D) #IR

------------ ---=-:-rrTT-�--�-------- 
449) srea ~ r al au a fr sr $2
A) irR

B) er el

c) it

D) rH

A) Process
B) Data Load

C) Program

D) Mutex

149) What name is given to a program in
execution?
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150) The bookmarks are used jn MS Word to 150) gt# r i MS a& far war &
) identify and correct the spelling errors in a A) fur le~ fR ffr es (ere) ~

document for future reference a#ft ft afar ft a ac s a# a ~ 
B) locate the comments in the document fRu 
O) locate the headers and footers in the document B) ear~sr (le) ~ fcuf ar qa uR ~ fRq
D) ia i de n t i fy  a  specific location or text in the C) ear~sr (li) ir ks  stx  ex  ar  ar  R

document for future reference fR 

D) fca ~ Rea fu e re ~ ta fafre Fr r

~ee fr ea a~ Ru


